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GOODS AND SERVICE TAX

BC-503

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

Attempt four out of remaining eight questions.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u  la[;k 1 vfuok;Z

gS A 'ks"k vkB iz'uksa esa ls dksbZ pkj iz'u vkSj dhft, A

1. Write notes on the following :

(a) Tax structure is India before Independence

(b) Goods and Service Tax Network

(c) Normal or Forward Charge

(d) Persons liable for registration under GST

(e) Electronic cash ledger. 5×4=20

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(v) LorU=krk ls iwoZ Hkkjr esa dj <k¡pk

(c) oLrq ,oa lsok dj usVodZ

(l) lkekU; ;k vxzsf"kr izHkkj

(n) GST iz.kkyh ds vUrxZr jftLVªs'ku ds fy, mÙkjnk;h

O;fDr

(b) bysDVªksfud [kkrkcgh A
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2. Discuss the benefits and drawbacks of Goods and Service

Tax. 15

oLrq ,oa lsok dj ds ykHkksa ,oa nks"kksa dk o.kZu dhft, A

3. What do you mean by deemed supply, composite supply

and mixed supply under GST law. 15

th-,l-Vh vf/fu;e ds vUrxZr ekuh tkus okyh vkiw£r] lexz

vkiw£r rFkk fef Ükzr vkiw£r ls vki D;k le>rs gSa \

4. Discuss benefits and drawbacks of registering under GST

Composition Scheme. 15

th-,l-Vh iz'keu ;kstuk ds vUrxZr iw¡thdj.k ds ykHkksa vkSj nks"kksa

dh ppkZ dhft, A

5. Calculate the tax liability of Agro Ltd. from the following

informations : 15

Purchases (Input) of Agro Ltd.

Value of Material = 15000

CGST = 9%

SGST = 9%

All these inputs are used for manufacture of two products

(are taxable and another exempted) and sale value of

output of Agro Ltd.

Sale value of Product (Taxable) = 12000

Value of Product (exempted) = 12000.

CGST–Central Tax = 9%

SGST–State Tax = 9%



(3)L-26098 3

fuEufyf[kr lwpukvksa ds vk/kj ij vki ,xzks fy- dh dj ns;rk

dh x.kuk dhft, %

,xzks fyfeVsM dh [kjhn (buiqV)

lkexzh dk ewY; = 15000

CGST = 9%

SGST = 9%

;s lHkh buiqV nks mRiknksa ds fuekZ.k ds fy, mi;ksx fd,

tkrs gSa (dj ;ksX; vkSj vU; NwV okys gSa) vkSj ,xzks fyfeVsM

ds mRiknu dk fcØh ewY; A

mRikn dk fcØh ewY; (dj&;ksX;) = 12000

mRikn dk ewY; (NwV) = 12000.

CGST–dsUnzh; dj = 9%

SGST–jkT; dj = 9% 15

6. Write short notes on the following :

(a) Revised Invoice

(b) Refund Voucher

(c) E-way Bill.

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(v) la'kksf/r chtd

(c) /u okilh okmpj

(l) E-way fo/s;d A

7. Explain provisions related with quarterly returns under

Composition Levy Scheme. 15

iz'keu ;kstuk ds vUrxZr =k;&ekfld fjVuZ ls lacaf/r izko/kuksa

dk o.kZu dhft, A
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8. Define Tax Deduction at Source. Explain provisions related

to Tax deduction at source under GST Law. 15

Ïksr ij dV dVkSrh dks ifjHkkf"kr dhft, A GST dkuwu ds rgr

Ïksr ij dj dVkSrh ls lacaf/r izko/kuksa dh O;k[;k dhft, A

9. Define general or residual penalty. Explain general

disciplines related to penalty. 15

lkekU; ;k vof'k"V n.M dks ifjHkkf"kr dhft, A n.M ls lacafèkr

lkekU; fo"k;ksa dh O;k[;k dhft, A


